
TRANSFORMATIONS DU PLAN 
 

  
Définition 

 
Illustration 

cas 
particuliers 

points 
invariants

propriétés de 
conservation 

Images de droites, de 
segments ,  
de cercles 

transfor-
mation  

réciproque

 
composée 

Expression 
analytique 

M(x,y) M’(x’,y’) 

Expression 
complexe 

M(z) M’(z’) 
T 
R 
A 
N 
S 
L 
A 
T 
I 
O 
N 

 

t u : M M’ 
 
tel que : 
 

MM u' 〉 =   

AB

C

A'B'

C'

 
 

 
 
 

to =  Id 

 
 
 

Aucun  
 

si u ≠ 0  

les distances 
l’alignement 
le concours 
le parallélisme 
l’orthogonalité 
les angles  

orientés
le barycentre 

droite 
  
 

segment 
 
 
 

cercle 
 

 
 
 

 
 
 

 

droite 
parallèle 

 
segment 
de même 
longueur 

 
cercle  

de même 
rayon 

 
 
 
 

t u−  

 
 

t u  tv

=  tu v+

Si  alors : u
a
b
⎛
⎝
⎜
⎞
⎠
⎟

 
x x a
y y b

 
'
'
= +
= +

⎧
⎨
⎩
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R(Ω,0) = Id 
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sD: M M’ 
 
tel que : 
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